A £ O &

AR g A A

20243 = 204 LBHSIH M|
DA SEHSAD
HM: RIRMOANHEEEAS
Chel: SIS B2E & S (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
FatH4a 158,976,541 135, 198,956 23,777,585
= 92,364,178
= 12,460,000
J| 3,139,049
= 51,013,314
FIARMUMABEENS 127,982,459 105,017,787 22,964,672
= 90,010,178
J| 3,139,049
& 34,833,232
LR BEE L S 2,118,005 1,698,855 419,150
= 326,790
& 1,791,215
LM dSKEZ 726,500 693,000 33,500
308 AXIEHMSOIN 726,500 693,000 33,500
01 IXSHNHBNEXRS 726,500 693,000 33,500
ORI HsKd2(ERA, HSL=
Ab) 499,200
O =M SHEA S XI& 95,000
ORI MSXAS(BEREHA) 132,300
NS 2SH 2 o= M 2 554,620 283,385 271,235
203 AR F=&lH| 3,600 2,565 1,035
03 Al FRIHRFAIY| 3,600 2,565 1,035
O2st A0 A MF=XHRFAY| 3,600
308 AHXIHMSOIH 491,020 237,620 253,400
01 AXSHHBLERS 491,020 237,620 253,400
OXGZatRret 28 IHAS 264,820
OHN223| ES4UHEZ3HA 25,000
O=&3AF M| R 7,500
OXGzstRre M5 XA 163,700
OZAZEZ Bl JIEAY 30,000
403 XtXISMS 201 A 60,000 43,200 16,800
01 X SHAE2ER 60,000 43,200 16,800
OO0ttt 2124 01E A2 &I 30,000
OO0k 24 0tE M Hel 43t X 30,000
SN AEEE 6,000 6,000 0
307 QIZt01 A 6,000 6,000
04 QIZIHALAIE E X 6,000 6,000
Oz &3 XA 6,000
PYESIM SUHE L JIES 204,000 204,000
308 AXISHMSOIN 204,000 204,000
13 SI 2SO B A E L EFALZH] 204,000 204,000
OREE3 M 2LIHE & JIE3 204,000




A 23R40
M SHRUOHHNBERS
Chel: SIS B2E & S (SH9 H2)
SN - HB - GRA(S) - HRMY - BAS Ol &t G o B2
SEIoM M-S B3E SHSAY 43,500 60,900 217,400
= 30,000
= 13,500
308 AEXISHMSOIH 43,500 60,900 217,400
= 30,000
< 13,500
01 XN LEXS 43,500 60,900 A17,400
OSSR dns2 2435 ALY 43,500
= 30,000
= 13,500
SIS XE & dSFHM o7 9,350 9,350
308 KXISHMSOIH 9,350 9,350
13 SI 2SOt E A A AS AL S| 9,350 9,350
ORE=EsM 5= XNE BEgd A7 9,350
SEESM s 20=0S AL BHX 33,350 37,120 A3,770
= 23,000
L= 10,350
308 KXIHMSOIH 33,350 37,120 23,770
= 23,000
T 10,350
01 XN BAELS 33,350 37,120 A3,770
Odsn=s2 23t0= Ab BHXI 33,350
= 23,000
s 10,350
SEESM FII=A 100,000 100,000 0
308 RXISHMSOIH 100,000 100,000
13 I 2 S0IeHE &R AL I 100,000 100,000
OSEEZM EIIZAL 100,000
NAHSA B=2 A3 Mgl 7,560 0 7,560
= 5,040
T 2,520
308 AXIHMSO0I & 7,560 0 7,560
= 5,040
& 2,520
01 AXIEHBAEES 7,560 0 7,560
ONAIRL 332 MY HMEldl 7,560
= 5,040
= 2,520
g HOIEN A JiXg= & &850(8t 25 50,000 0 50,000
= 25,000
L= 25,000
308 AXIHMSOIA 50,000 0 50,000




FA: 2ateatt
B SHSUOHHNBERS
&t SRS B L HS (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 25,000
= 25,000
13 27/ 2SO CHEH 3 AL E SISt At 50,000 0 50,000
OBY wIrRi ML) JRE= 2 F5))
g 1= 50,000
= 25,000
< 25,000
ZoH01g e SE4IIE St ds0ts X3 90,000 0 90,000
= 60,000
= 30,000
308 AHXIHMSO0IA 90,000 0 90,000
= 60,000
= 30,000
01 XN BELES 90,000 0 90,000
O=Jo1gell|et =E4II1E St dS0t=
X211 90,000
= 60,000
[ 30,000
s 2RY SE2M 52 & ds)(E 25 70,000 0 70,000
= 35,000
= 35,000
308 AXIHMSO0IA 70,000 0 70,000
= 35,000
= 35,000
13 SIS0t 4 A A A 70,000 0 70,000
Od 274 SEM 57 & ds)|et 115 70,000
= 35,000
== 35,000
HSsSSH 243 A At 223,125 0 223,125
= 148,750
= 74,375
308 AtAIEHMSOIE 223,125 0 223,125
= 148,750
= 74,375
01 AXEN B EES 223,125 0 223,125
OtsSSH gdat X3 At 223,125
= 148,750
=S 74,375
2 2&2¢d 52,907,851 52,495,876 411,975
= 34,070,238
7l 1,587,000
= 17,250,613
=FEsM2tel X 27,500 27,500 0




DA SEHSAD
M SRLAMAREENS
&el: NE2HM 2&22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 27,500
308 AtXIEHMSOIE 27,500 27,500 0
= 27,500
01 XN BELES 27,500 27,500 0
O=II2t XS =:MaE S 2] 27,500
= 27,500
SIS ZANEE EHl 336,400 171,400 165,000
403 XM SAH=01H 336,400 171,400 165,000
01 AR A =2 £ 336,400 171,400 165,000
OEaZA4d= Ebl 336,400
CXNE=3M et & 2 X S| 33,129 18,270 14,859
403 AXIEHMSAH=0ld 33,129 18,270 14,859
01 A= 2L 33,129 18,270 14,859
OEXNEEZHM e & =25 X& JH| 33,129
=IHIE=2=H & SEE3M 234 X 32,811,832 38,793,861 /5,882,029
= 28,655,038
= 4,156,7%
403 AXIEHHSA=201H 32,811,832 38,793,861 A5,982,029
= 28,655,038
= 4,156,7%
01 AXISHHA=2EXE 32,811,832 38,793,861 N\b5,982,029
O=JHN g2t 2==3H| 32,763,082
= 28,622,538
== 4,140,544
O=JHE SE2 2+3b| 48,750
= 32,500
= 16,250
SN 22l 2 uE S 133,000 73,000 60,000
201 2= 133,000 73,000 60,000
01 At2t2lt] 133,000 73,000 60,000
O=2z 92 24 133,000
D& OI0IXI #IIAS 4,606,000 2,005,600 2,660,400
= 3,847,000
[ 819,000
201 eer23| 16,600 0 15,600
01 AtR2t2lHI 15,600 0 15,600
OLNEEE 54 82X 24 15,600
403 AXIEHMSAH=201H 4,650,400 2,005,600 2,644,800
= 3,847,000
= 803,400
01 AXISHHA=2EE 4,650,400 2,005,600 2,644,800
O1E OI0IXI &I At 1,246,500




DA SEHSAD
. BRAAMANEENS
&el: NE2HM 2&22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 831,000
=S 415,500
OUSAH HAI=EEH| 1,128,700
= 1,000,000
< 128,700
ORHNE=F 2 1,659,000
= 1,470,000
= 189,000
OR0 MAFA ELHELE HE 616,200
= 546,000
== 70,200
FUEH D=sd NFAE 103,350 130,000 A\26,650
= 79,500
= 23,850
308 AtAIEHMSOIE 103,350 130,000 N\26,650
= 79,500
= 23,850
01 XN EES 103,350 130,000 N26,650
OLEEE |4 U 2SN 103,350
= 79,500
=S 23,850
ZH SSAHE 3,174,000 3,438,486 N264,486
Jl 1,587,000
< 1,587,000
307 gl2to| & 3,174,000 3,332,286 158,286
Jl 1,587,000
= 1,587,000
02 QB HANSEER 3,174,000 3,332,286 N\158,286
O2HES A 3,174,000
Jl 1,587,000
= 1,587,000
EXNE23H E4FH| 4,520,000 4,499,500 20,500
403 AXIEHMSAH=0lH 4,520,000 4,499,500 20,500
01 A= 2L 4,520,000 4,499,500 20,500
O=XE23H E=FH| 4,520,000
Z Nd € 53 50,000 50,000
308 AHXIEMSOIE 50,000 50,000
01 HAHHBAEEXS 50,000 50,000
O=2=M XY - S5 € &3 50,000
S3H etLfet JH| 95,985 123,429 N7 ,444
= 85,0850
= 10,935

o
|




DA SEHSAD
M SRLAMAREENS
tel: XNEZSHH 2&E2e] EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
403 X SHHMSAH=01H 95,985 123,429 NPT 444
= 85,050
== 10,935
01 AXISHHA 22 % 95,985 123,429 N7 ,444
OZ3HM et &bl 95,985
= 85,050
& 10,935
SE22HM ZA 160,000 135,000 25,000
308 AXIHMSO0IA 160,000 135,000 25,000
13 SI[2S0He A AS A 160,000 85,000 75,000
O=XE=Z3 M EIIEA 160,000
EXE2 M HEASIA 106,980 127,330 20,350
308 XXM SOIH 106,980 127,330 220,350
01 XN BELES 106,980 127,330 220,350
OEXNEE3M 79 sasg & 2914
= 59,500
O=XNE2stM 8= M 47,480
AMEXE OlBI22HH JI=ZAL 111,825 0 111,825
= 74,550
= 37,275
308 XXM SOIA 111,825 0 111,825
= 74,550
s 37,275
01 XN BSELES 111,825 0 111,825
OAHH OlBI22HH ZALKIZ A 111,825
= 74,550
< 37,275
T NE2MN 2e B 100,000 100,000
403 AXIEHMSAH=201d 100,000 100,000
01 MHXIHHA 22X 100,000 100,000
Ok NE=23MN 2 B 100,000
HSAHE E=FHI(AZAE) 1,404,000 1,267,500 136,500
= 936,000
=S 468,000
403 X SHHMSAH=01H 1,404,000 1,267,500 136,500
= 936,000
< 468,000
01 AXISHHA 22 % 1,404,000 1,267,500 136,500
OHSAIZE 3| 1,404,000
= 936,000
= 468,000
HEAME LTHAIAE RAF(AZXHE) 90,000 139,500 A\49,500
= 60,000




DA SEHSAD
M SRLAMAREENS
&el: NE2HM 2&22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 30,000
403 MR HMSAHE01H 90,000 139,500 249,500
2 60,000
= 30,000
01 AXIEHM A= 2 £ 90,000 139,500 249,500
OB SAHE HTAIAYE 2= 90,000
= 60,000
= 30,000
HSAME SMAIAE S 458,400 370,500 87,900
= 305,600
< 152,800
308 AXIHMSOIA 458,400 370,500 87,900
= 305,600
& 162,800
01 HASHHBSEXS 458,400 370,500 87,900
OHSAHE SMAIAE FRE+ 458,400
2 305,600
= 152,800
ANSESAHE B 1,855,450 925,000 930,450
403 TR SMSAH=01H 1,855,450 925,000 930,450
01 AR A =2 £ 1,855,450 925,000 930,450
OXNLHSAIE 2 1,855,450
ANYEHSAHE 218 2+ 100,000 100,000 0
403 MR HHMSAHE01H 100,000 100,000
01 MHXIHH A =222 100,000 100,000
OXNYESAIE 218 B+ 100,000
=FRAHM & & 170,000 0 170,000
308 AtXIEHMSOIE 170,000 170,000
13 S [2S0He & EAS A 170,000 170,000
O=ItR4 SHHA Jl=HE =8 170,000
HHDNE &= =AY 2,350,000 2,350,000
207 ARl 370,000 370,000
01 H1E4HI 370,000 370,000
OUiNIstE BEE2Y Y A718Y 350,000
OHNS3e=s AXNEE BEH 89 20,000
401 Al HIZ S OHYI 1,980,000 1,980,000
01 AlZ2H| 1,980,000 1,980,000
OHNS3e=s A=012l & AALA 1,980,000
SEET N2 SS2eAIAE 72 50,000 50,000
201 2= 50,000 50,000
01 At2t2lt] 50,000 50,000
OXE = Se2clAlAg =Xl2c 50,000
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DA SEHSAD
M SRLAMAREENS
Chel: 23RA FHHY 2 =2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 498,150
01 HASHHBSEEXS 1,605,150 1,508,000 97,150
O2st=4t OFell At 1,605,150
= 1,107,000
= 498,150
Ml ZoRE ALY 812,000 1,068,650 A\256,650
= 560,000
=S 252,000
308 XXM SO0l 812,000 1,068,650 A256,650
= 560,000
< 252,000
01 XN B2 LS 812,000 1,068,650 A\256,650
OMd Z3tFA ALY 812,000
= 560,000
= 252,000
Sl N3 E3RE EEAME 1,204,950 1,918,350 AT713,400
= 831,000
= 373,950
308 XXM SOIA 1,204,950 1,918,350 AT713,400
= 831,000
s 373,950
01 XN B2 LS 1,204,950 1,918,350 AT13,400
OSUANE 2etRe 28 1,204,950
= 831,000
[ 373,950
NSEs=E WF A 96,000 111,000 15,000
Il 64,000
= 32,000
308 AHXIHMSO0IA 96,000 111,000 15,000
Jl 64,000
S 32,000
01 AXNBEES 96,000 111,000 15,000
OXlgzat7atu=s 96,000
Il 64,000
== 32,000
VS 2EAMY 627,850 954,100 N326,250
= 433,000
= 194,850
308 AtXIEMSOIE 627,850 954,100 A\326,250
= 433,000
= 194,850
01 RSN B EES 627,850 954,100 AN326,250
onusExd 28 627,850




DA SEHSAD
. BRAAMANEENS
Chel: 23RA FHHY 2 =2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 433,000
=S 194,850
=ALTH2H e=FaH 24 140,000 236,000 296,000
306 £= 140,000 236,000 296,000
01 9= 140,000 236,000 /96,000
O=2ALM 2=t e+t 29 140,000
ICT &22E = g X& At 179,800 179,800 0
= 124,000
= 55,800
308 AFAIEHMSOIE 179,800 179,800 0
= 124,000
= 55,800
01 AXENBELES 179,800 179,800 0
OlcTaZZg = JHE At 179,800
= 124,000
== 55,800
HESd dEas¥ 243 NA(=HK) 90,000 90,000
403 MR HSAHE01H 90,000 90,000
01 MXIHHA 22 90,000 90,000
OHXEd a3 243t NJ(=2F
o) 90,000
S S At 2,110,772 2,693,112 582,340
Jl 1,468,229
=S 642,543
ESHM CHMZHIA HiXl & S 1,171,561 1,078,650 92,911
Jl 792,279
== 379,282
308 AHXIEMSOIE 1,171,561 1,078,650 92,911
) 792,279
< 379,282
01 HASHHBAEEXS 1,171,561 1,078,650 92,911
OS=sx2e A&ZHIE Xl 1,171,561
Il 792,279
= 379,282
S HHSXAIE 2= 425,250 862,987 AN437,737
Jl 345,500
=S 79,750
403 MR SHMSAH=0lH 425,250 862,987 AN437,737
Jl 345,500
< 79,750
01 A= 2L 425,250 862,987 N437,737
O=JINE 2t MHESNAE 231 & K
l 425,250




FA: 2ateatt
B SHSMOHHRBERS
Sl 2 LAY (SH9 H2)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
7l 345,500
=S 79,750
ANE=s SMAIE 1= 112,700 112,700
403 AXIEHMSAH=0lH 112,700 112,700
01 XA 22 % 112,700 112,700
OEXNE =M SMHAIE 2= 112,700
ZoHH SAIE RX22 X2 364,225 366,775 A2,550
Il 299,950
= 64,275
308 AHXIHMSO0IA 364,225 366,775 A2,550
Jl 299,950
= 64,275
01 AXENBELES 364,225 366,775 A2,550
Ose=x2eH getate] 29X & &
MAIE =Al2cl 364,225
Jl 299,950
& 64,275
3 EHEE ALY 2 - 2l 37,036 34,000 3,036
Il 30,500
= 6,536
403 AXIEHHSAH=201H 37,036 34,000 3,036
7l 30,500
= 6,536
01 AR A =2 £ 37,036 34,000 3,036
O23 LHEE ALY 2 - 22 37,036
Il 30,500
== 6,536
AR SN & 2el 65,107,673 39,226,630 25,881,043
= 52,352,150
= 12,755,523
st=9| MY MAFASHFN 87,500 41,250 46,250
308 AtXIEMSOIE 87,500 41,250 46,250
01 HAHHBSEXRS 87,500 41,250 46,250
Ost=2l Mg MIAIFL 22l 29 87,500
MR HESS ARXI (EHY) 30,000 30,000
308 XXM SOIA 30,000 30,000
18 SISOt EAS A 30,000 30,000
OB &alo] 23HF JIXI2F 20| =t A8 I
ZEAL G & S=3l 30,000
st=2l M3 MAIRA 2&2ic 117,000 60,000 57,000
308 AXIHSO0IA 117,000 60,000 57,000
01 HAHHBSEEXS 117,000 60,000 57,000
Ost=2 M& HARL 22| 67,000

_11_




SN 22D
Hu: SR ANBERS

e A?Iﬁlg/: S & 2el (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| OADIS 574 Jl8 E2hd HaXl MR 50,000
HAIR & BE22| (Al XH2) 1,770,305 2,369,590 A539,285
= 1,457,900
& 312,405
403 THAIEMS =01 1,770,305 2,369,590 A59,285
= 1,457,900
= 312,405
01 XISt AH22 = 1,770,305 2,369,590 A599,285
OHMIAHIsA BE2te] AtE 1,770,305
= 1,457,900
= 312,405
NS BE2(AZZ ) (2IRTAIY) 480,000 2,600,000 22,120,000
308 AXIHMSOIA 480,000 2,600,000 2,120,000
01 XN ELS 480,000 2,600,000 22,120,000
OHHSAARET MARL 28 2EI=
BE ALY 480,000
HHSE AHSM SBRe ¥ B2 400,000 400,000 0
306 == 400,000 400,000
01 &¢3 400,000 400,000
OHHMSN MARM Setael U &2 400,000
HHSE MASL S2E22|AtY 60,282,643 30,258,785 30,023,858
= 49,621,000
= 10,661,643
403 XX SHHSK=01A 60,282,643 30,258,785 30,023,858
= 49,621,000
= 10,661,643
01 X SHA=2ER 60,282,643 30,258,785 30,023,858
OUHMSE MHSA SEBRIAIY 60,282,643
= 49,621,000
= 10,661,643
NIAHIR A E2AHS 275,925 494,000 A218,075
= 212,250
= 63,675
308 XXM SOOI 275,925 494,000 A218,075
= 212,250
= 63,675
01 XN ELS 275,925 494,000 A218,075
ONIHS A SEAMY 275,925
= 212,250
= 63,675
NAHSA AL 176,800 689,325 Ab512,525
= 136,000
T 40,800




H: 2ssam
M SRLAMAREENS
SRl AAIRA SR 2l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 176,800 689,325 A512,525
= 136,000
== 40,800
01 XN BSELS 176,800 689,325 Ab512,525
OMIAIF L 28 At 176,800
= 136,000
& 40,800
HIAIRASE(AZZE) (RIEERH) 300,000 300,000 0
308 AFAIEHMSOIE 300,000 300,000
01 AXEN B2 LS 300,000 300,000
O2024 MIAI= & ZEALY 300,000
HE=Z3 SEXND 2 &3 850,000 1,232,500 A382,500
= 700,000
== 150,000
308 AXIHSOIA 850,000 0 850,000
= 700,000
< 150,000
01 HAHHBSEEXS 850,000 0 850,000
Ot =stl =&Xs 82 &3t 850,000
= 700,000
= 150,000
ANt SQFE L=2XA} 337,500 0 337,500
= 225,000
=S 112,500
403 AXIEHMSAH=0lH 337,500 0 337,500
= 225,000
< 112,500
01 AXISHHA 22 % 337,500 0 337,500
O9Arzetd S2KH =2 A 337,500
= 225,000
S 112,500
ARl SRS SR 70,640 115,090 AN44,450
ARlEtHl B4 & X1 70,640 115,090 N4, 450
307 212+01& 55,640 115,090 A\59,450
02 LB HANHE L 55,640 115,090 A59,450
O & Wl AHRXNEX s 15,640
OBr==3t AEHZA 40,000
308 AXIHMSOIA 15,000 0 15,000
01 HXHHBAEES 15,000 0 15,000
Ollci=2d 2NSEL HAeISHeEs 15,000
=3 e 24,566,000 23,144,000 1,422,000
= 1,045,000
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S 23R
B3 252 HY
el B, R0 SASSEAl 24 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
|| O=% =0l dARsi=Al =4 1,500,000
IZHL ALY 2,580,000 2,240,000 340,000
HNESHE NS 2,580,000 2,240,000 340,000
408 T SIS KH20IH 2,580,000 2,240,000 340,000
01 IS 2LE 2,580,000 2,240,000 340,000
OstetHl =8| 490,000
OHOIZZZ2 28 U LIKE F| 440,000
OURPEZ MIIX L3 1,300,000
Ozx Hil 350,000
ERRUSID FABBNLAL 14,962,000 16,964,000 1,002,000
2 12,460,000
= 2,492,000
E-HIZ AE(22) 2,038,800 600,000 1,438,800
2 1,699,000
= 339,800
403 XSRS KH=0| & 2,038,800 600,000 1,438,800
2 1,699,000
= 339,800
B CIEEEEES 2,038,800 600,000 1,438,800
o=y EZHIZ HE2 2,088,800
2 1,699,000
= 339,800
EEEREE RS 420,000 0 420,000
2 30,000
= 70,000
408 XX EHI S KH201 & 420,000 0 420,000
2 30,000
= 70,000
01 NXSHELE 420,000 0 420,000
OOH4H 220LS QIR EAIE 420,000
2 30,000
= 70,000
ol EDE ER2| F(0H) 420,000 0 420,000
2 350,000
= 70,000
408 THXI SIS KH20I 420,000 0 420,000
2 30,000
= 70,000
01 XS ELE 420,000 0 420,000
OOH4t wo|zz2 £29| & 420,000
2 30,000
= 70,000




FA: 2ateatt
mr: 2 g
el ERSUSSA BARBIWLAL (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Uots AP (A4 960,000 600,000 360,000
= 800,000
== 160,000
403 MR HHMSAHE01H 960,000 600,000 360,000
= 800,000
< 160,000
01 MXIHHA 22 960,000 600,000 360,000
OAN&F Hols AR 960,000
[ 800,000
= 160,000
UHssel FEZ X0 (=4) 1,200,000 1,560,000 A360,000
= 1,000,000
=S 200,000
403 MR SHHMSAH=01H 1,200,000 1,560,000 A.360,000
= 1,000,000
< 200,000
01 A= 2L 1,200,000 1,560,000 360,000
O=¢ S+l 'z A0t 1,200,000
[ 1,000,000
= 200,000
0olsSe AArs2(gd) 1,560,000 1,200,000 360,000
[ 1,300,000
= 260,000
403 X SHMSAH=01H 1,560,000 1,200,000 360,000
s 1,300,000
s 260,000
01 AXISHHA =2 & 1,560,000 1,200,000 360,000
Ogdl Hs= AA=C 1,560,000
= 1,300,000
[ 260,000
SEAMA(MA) 2,557,200 2,092,800 464,400
[ 2,131,000
= 426,200
403 AXIEHHSAH=201H 2,557,200 2,092,800 464,400
= 2,131,000
= 426,200
01 AXISHHA=2E XL 2,557,200 2,002,800 464,400
OAE ZEAA 2,557,200
= 2,131,000
== 426,200
HHIE9 22 (YY) 1,500,000 1,200,000 300,000
[ 1,250,000
= 250,000




FA: 2ateatt
mr: 2 g
el ERSUSSA BARBIWLAL (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
403 X SHHMSAH=01H 1,500,000 1,200,000 300,000
= 1,250,000
== 250,000
01 AXISHHA 22 % 1,500,000 1,200,000 300,000
OFY HHIE2 2ot 1,500,000
= 1,250,000
& 250,000
EFFYE ABIS(E4) 454,800 1,635,600 1,180,800
[ 379,000
= 75,800
403 TR SHMSAH=01H 454,800 1,635,600 1,180,800
= 379,000
=S 75,800
01 AXISHHA =2 £ 454,800 1,635,600 21,180,800
O&d s34 2eit= 454,800
= 379,000
[ 75,800
FALMO Z2IDFS (0l 4) 1,561,200 1,800,000 238,800
[ 1,301,000
= 260,200
403 AXIEHHSAH=201H 1,561,200 1,800,000 238,800
[ 1,301,000
= 260,200
01 AXISHHA=2EE 1,561,200 1,800,000 N\238,800
O0fl&k =AM O Z2I0t=S 1,561,200
s 1,301,000
== 260,200
AAIS9| HiC=AIZ(EHEH) 1,080,000 600,000 480,000
[ 900,000
= 180,000
403 AXIEHHSAH=01d 1,080,000 600,000 480,000
[ 900,000
= 180,000
01 AXEHM A =2 £ 1,080,000 600,000 480,000
OFEieH AtAI=2] HiCh=edllZ 1,080,000
= 900,000
= 180,000
22 53 dx2(F0l) 600,000 1,200,000 £600,000
= 500,000
< 100,000
403 AXIEHMSAH=01d 600,000 1,200,000 600,000
[ 500,000
= 100,000




FA: 2ateatt
mr: 2 g
oSl BESDSHT ZABZIHLAY COR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AXISHHA =22 & 600,000 1,200,000 600,000
20 =sZdFIddRE 600,000
= 500,000
< 100,000
HE AHHIEZHHE 2 600,000 0 600,000
[ 500,000
= 100,000
403 AXIEHHSAH=201H 600,000 0 600,000
[ 500,000
= 100,000
01 AXISHHA=2EE 600,000 0 600,000
OHE AMASSHE 2 600,000
s 500,000
s 100,000
N =2et2 43t 3,178,600 3,964,000 AT785,400
= 1,309,000
= 1,869,600
ANE2st ds 3,178,600 3,964,000 AT785,400
= 1,309,000
=S 1,869,600
ZEWESIAIE A (=LAl 1,800,000 225,000 1,575,000
= 1,200,000
< 600,000
403 MR HHMSAHE01H 1,800,000 225,000 1,575,000
= 1,200,000
& 600,000
01 MXIHHA 22X 1,800,000 225,000 1,575,000
OFEHAl S22t HE 1,800,000
= 1,200,000
= 600,000
KNSE2SAY &S 1,194,600 165,000 1,029,600
306 E= 100,000 0 100,000
01 2d= 100,000 0 100,000
OFY JISs1 =374t sl&gXA 100,000
308 AXIHMSOIA 505,000 165,000 340,000
01 XN BSEES 505,000 165,000 340,000
OLEYE 104 JIGHAHLE, A&H) 210,000
O&Ct NMAHT2IADIA =X 80,000
OEGAt SW23HAA 20,000
OH AL SUESHA 20,000
OAbreful MIXI& 15,000
ON3gl S2ZunEssAs|(THED) 20,000
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FA: 2atmatt
33 NE=2sgdst
=Rl NE2st s (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONeal mEHHEASY SSSLZSHA| 30,000
O2024 MOAIRI) SHGtE AS2HEM 35,000
O8dx FAHE ASHA 20,000
OsglIsuRAES=A0IL 15,000
O&=cl 33J| S48 A 40,000
403 MR SHHMSAH=01H 589,600 0 589,600
01 AXISHHA 22 £ 589,600 0 589,600
O M O3 AT 9,600
OOtatefl FE3|2 JHEAL 250,000
O&=dX &l 330,000
SUE30 109,000 109,000 0
= 109,000
308 XM SOIE 109,000 109,000 0
= 109,000
01 XN B2 LS 109,000 109,000 0
OB u220d AR=d L2 1 109,000
= 109,000
SHSsisUEE S 75,000 0 75,000
306 £= 75,000 0 75,000
01 9= 75,000 0 75,000
Osdss=sed 2sAY 75,000
SHKI SAEIOHTZ &4 2,578,100 2,672,190 A\94,090
SN2t 24 2,273,500 2,380,340 106,840
ANEE =A2 923,500 1,423,500 A500,000
201 2= 55,500 55,500 0
01 AtR2t2lt] 25,500 25,500 0
OfiKI22HeHAl &Et==ZH| 25,500
2 s5=4g4l 30,000 30,000 0
OAIZEHIFAIHl S 30,000
301 EtE N = 18,000 18,000
14 DBt 2 a3 18,000 18,000
SAb AY 2S48l 18,000
307 21201 & 850,000 1,350,000 500,000
05 2IR”IRIE = 850,000 1,350,000 A500,000
OouztAg 2el2gH| 850,000
ANEES 2+3A 1,350,000 956,840 393,160
401 Al HIZL 201 1,350,000 956,840 393,160
01 Al&H| 1,350,000 950,000 400,000
OANldE BEE2AS 1,350,000
BHSAIES 2 28 304,600 291,850 12,750
et FAl2c 274,600 261,850 12,750
201 eer23y| 90,000 90,000 0
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